
INSTRUCTION MANUAL

068-1224-2

MD

WORK & STORAGE CENTRE

Vincent
Sticky Note
20248A1
70 kg/ 154.3 lb
1277 mm/ 50.3 in
795 mm/ 31.3 in
268 mm/ 10.6 in




If any parts are
missing or damaged,
or if you have any
questions, please call
1-800-689-9928.

Read and understand this instruction manual 
thoroughly before using the product. It contains 
important information for your safety, as well as 
operating and maintenance advice.

Keep this instruction manual for future use. Should 
this product be passed on to a third party, this 
instruction manual must be included.

WORK & STORAGE CENTRE 068-1224-2



TA
BL

E 
OF

 C
ON

TE
NT

S

2

WORK & STORAGE CENTRE  068-1224-2

TECHNICAL SPECIFICATIONS 3

SAFETY GUIDELINES 4

EXPLODED VIEW 5

PACKAGE CONTENTS 6–8

ASSEMBLY INSTRUCTIONS 9–14

WARRANTY 15–16

Work and storage centre - 068-1224.book  Page 2  Thursday, September 5, 2013  8:46 AM



TE
CH

NI
CA

L 
SP

EC
IF

IC
AT

IO
NS

3

WORK & STORAGE CENTRE  068-1224-2

Note: Maximum load for the cabinet is 750 lb (340.9 kg).

Component Maximum load

Wood board 430 lb (195.4 kg)

Bottom panel 90 lb (40 kg)

Middle shelf 70 lb (31.8 kg)

Drawer 40 lb (18.1 kg)

Work and storage centre - 068-1224.book  Page 3  Thursday, September 5, 2013  8:46 AM



SA
FE

TY
 G

UI
DE

LI
NE

S

4

WORK & STORAGE CENTRE  068-1224-2

Safety guidelines
This manual contains information that relates to PROTECTING PERSONAL SAFETY and PREVENTING 
EQUIPMENT PROBLEMS. It is very important to read this manual carefully and understand it 
thoroughly before using the product. The symbols listed below are used to indicate this information.

Note – The word “Note” is used to inform the 
reader of something the user needs to know 
about the tool.
SAFETY RECOMMENDATIONS

These precautions are intended for the personal safety of the user and others working with the user. 
Failure to follow these instructions may result in a permanent loss of vision, serious personal or even 
fatal injury, property damage and/or tool damage. Please take time to read and understand them.

CAUTION!
Potential hazard that may result in 
moderate injury or damage to equipment.

CAUTION!
Potential hazard that may result in moderate injury or damage to 
equipment.

• The cabinet should be positioned on a level surface.

• This cabinet is intended for indoor use only.

• Check all nuts and bolts periodically and tighten it, if required.

• Use a slightly damp soft cloth to clean the cabinet.

• Do not exceed the weight limit specified for this cabinet.

• Any assembly or maintenance of the cabinet must be carried out by adults 
only.

• Do not assemble or move the cabinet without necessary manpower.

Work and storage centre - 068-1224.book  Page 4  Thursday, September 5, 2013  8:46 AM



5
EX

PL
OD

ED
 V

IE
W

WORK & STORAGE CENTRE  068-1224-2

MC-681224-01

Small drawer  Large drawer

4

8

16

3

13

1

12

5

12

9

7
6

2
17

20

15

14

11A10A

11D

10E

11B10B

16

11C

10C

10E
10D

Work and storage centre - 068-1224.book  Page 5  Thursday, September 5, 2013  8:46 AM



PA
CK

AG
E 

CO
NT

EN
TS

6

WORK & STORAGE CENTRE  068-1224-2

Name  No. Qty Illustration

Wood board
1 1

Front frame 2 1

Back panel 3 1

Left panel 4 1

Right panel 5 1

Middle shelf 6 1

Bottom panel 7 1

Middle panel 8 1

Right door 9 1

Work and storage centre - 068-1224.book  Page 6  Thursday, September 5, 2013  8:46 AM



PA
CK

AG
E 

CO
NT

EN
TS

7

WORK & STORAGE CENTRE  068-1224-2

Small drawer
front panel

10A 2

Small drawer
left panel

10B 2

Small drawer
right panel

10C 2

Small drawer
back panel

10D 2

Drawer base panel 10E 4

Large drawer
front panel

11A 2

Large drawer
left panel

11B 2

Large drawer
right panel

11C 2

Large drawer
back panel

11D 2

Drawer mat 11E 4

Work and storage centre - 068-1224.book  Page 7  Thursday, September 5, 2013  8:46 AM



PA
CK

AG
E 

CO
NT

EN
TS

8

WORK & STORAGE CENTRE  068-1224-2

Wheel with
brake

12 2

Wheel without
brake

13 2

M8 X 18 bolt 14 4

M8 flat washer 15 4

M4 x 8 screw 16 26

M4 x 8 screw 17 93

Screwdriver
(not shown)

18 1

Wrench
(not shown)

19 1

Key 20 2

Work and storage centre - 068-1224.book  Page 8  Thursday, September 5, 2013  8:46 AM



AS
SE

M
BL

Y 
IN

ST
RU

CT
IO

NS
9

WORK & STORAGE CENTRE  068-1224-2

Assembly preparation
• Assemble the cabinet on a clean, level surface.

• Remove all items from the packaging box and ensure that all parts listed above are available.

• When installing parts that have more than one screw, tighten all screws by hand before 
tightening them with the screwdriver and the wrench provided.

Note: A 13 mm socket wrench (not included) may be required to assemble the cabinet.

To assemble cabinet frame

1. Open the cardboard box containing the 
wood board (1). Remove all parts packed 
on top of the wood board (fig A).

Note: The cabinet frame is assembled upside 
down.

2. Attach the back panel (3) onto the back 
side of the wood board (1) by securing a 
bolt (14) and an M8 flat washer (15) on 
each end of the panel. Tighten the bolt 
with the provided wrench (19) (fig B).

3. Set the right panel (5) at the right side of 
the back panel (3) by placing the top of 
the right panel on the wood board (1). 
Attach the right panel to the back panel 
by securing three M4 X 8 screws (16). 
Tighten the screws with the provided 
screwdriver (18) (fig C).

fig A

MC-681224-02

1

MC-681224-03
1 3

fig B

14
15

19

fig C

MC-681224-04

3

55

51

18

16

Work and storage centre - 068-1224.book  Page 9  Thursday, September 5, 2013  8:46 AM



AS
SE

M
BL

Y 
IN

ST
RU

CT
IO

NS

10

WORK & STORAGE CENTRE  068-1224-2

4. Locate the position of the middle panel 
(8) on the wood board (1). Secure the 
middle panel to the back panel (3) using 
three M4 X 8 screws (16) (fig D).

Note: Tabs should go toward the outside of the 
brace on the back panel.

5. Locate the left panel (4) on the wood 
board (1). Secure the left panel to the 
back panel (3) using three M4 X 8 
screws (16) (fig E).

6. Attach the front frame (2) to the left panel 
(4) and the right panel (5) by securing 
three M4 X 8 screws (16) to the left and 
right sides of the front frame (fig F).

Note: Do not tighten the screws completely at 
this point.

7. Secure the front frame (2) to the wood 
board (1) using two bolts (14) and two 
M8 flat washers (15). Tighten the bolts 
with the provided wrench (19). Then 
secure the front frame to the middle 
panel (8) with three M4 X 8 screws (16) 
(fig G).

Note: Tighten all the screws used for attaching 
the front frame completely.

fig D

MC-681224-05

8

3
1

16

fig E

MC-681224-06

4

3

1

16

fig F

MC-681224-07

2

16

5
4

fig G

MC-681224-08

8

1

2

16

14

1915

Work and storage centre - 068-1224.book  Page 10  Thursday, September 5, 2013  8:46 AM



AS
SE

M
BL

Y 
IN

ST
RU

CT
IO

NS
11

WORK & STORAGE CENTRE  068-1224-2

8. Attach the bottom panel (7) between the 
back panel (3) and the front frame (2) by 
securing eight M4 X 8 screws (16) 
(fig H).

9. Install the wheels with brakes (12) and 
wheels without brakes (13) at the 
corners of the back panel and the front 
frame. The wheels with the brakes 
should be on the same side as the right 
panel (5). Then, turn the assembled 
cabinet frame to the upright position 
(fig I).

Note: Always turn the cabinet frame to the 
upright position with the help of two people, as 
the cabinet frame is very heavy.

To assemble the middle shelf and right door of cabinet

1. Place the middle shelf (6) into the 
cabinet frame at the decided height and 
push it down onto the hooks to lock it 
(fig J).

fig H

MC-681224-09

3

7

2

16

fig I

MC-681224-10

1312

5

fig J

MC-681224-11

6

Work and storage centre - 068-1224.book  Page 11  Thursday, September 5, 2013  8:46 AM



AS
SE

M
BL

Y 
IN

ST
RU

CT
IO

NS

12

WORK & STORAGE CENTRE  068-1224-2

2. Attach the right door (9) to the right 
side of the cabinet frame by securing 
five M4 X 8 screws (17) (fig K).

To assemble small drawers

1. Attach the small drawer left panel 
(10B) and small drawer right panel 
(10C) to the small drawer front panel 
(10A) by securing two M4 X 8 screws 
(17) on each side of the small drawer 
front panel (fig L).

2. Attach the drawer base panel (10E) to 
the small drawer left panel (10B), the 
small drawer right panel (10C) and the 
small drawer front panel (10A) by 
securing three M4 X 8 screws (17) on 
each side of the drawer base panel 
(fig M).

fig K

MC-681224-12

9

17

fig L

MC-681224-13

10C 10B

10A

17

fig M

MC-681224-14

10B10E10C

10A

17

Work and storage centre - 068-1224.book  Page 12  Thursday, September 5, 2013  8:46 AM



AS
SE

M
BL

Y 
IN

ST
RU

CT
IO

NS
13

WORK & STORAGE CENTRE  068-1224-2

3. Attach the small drawer back panel 
(10D) to the small drawer left panel 
(10B), the small drawer right panel 
(10C) and the drawer base panel (10E) 
by securing seven M4 X 8 screws (17) 
on three sides of the small drawer 
base panel. Now a complete small 
drawer is assembled (fig N).

Note: Repeat the above steps 1-3 for 
assembling the other small drawer.

To assemble large drawers

1. Repeat the steps 1-3 for assembling 
the small drawers by replacing the 
small drawer panels with the large 
drawer front panel (11A), large drawer 
left panel (11B), large drawer right 
panel (11C) and large drawer back 
panel (11D) while the drawer base 
panels (10E) remain the same (fig O).

To insert small and large drawers into the cabinet frame

1. Pull the ball bearing track (1) of the 
slider (2) toward the front of the 
cabinet frame (fig P).

fig N

MC-681224-15

17

10D

10B
10E

10C

fig O

MC-681224-16

11B

11C

11A

11D
10E

fig P

MC-681224-17

2

1

Work and storage centre - 068-1224.book  Page 13  Thursday, September 5, 2013  8:46 AM



AS
SE

M
BL

Y 
IN

ST
RU

CT
IO

NS

14

WORK & STORAGE CENTRE  068-1224-2

2. To insert drawers, pull out the drawer 
tracks and inner ball bearing tracks as 
far as possible. Then fit the tracks 
attached to the drawer to the inside of 
the track attached to the left panel (6) 
and slider middle frame (8). Work the 
same way to install all four drawers: 
two small drawers at the top of the 
cabinet and two large drawers at the 
bottom of the cabinet. Then place the 
drawer mats (11E) inside all drawers 
(fig Q).

To remove the drawers from the cabinet
1. Pull up the black plastic clip (1) on the 

right side of the drawer, and then push 
down the black plastic clip (2) on the 
left side of the drawer. Now the 
drawer can be removed from cabinet 
(fig R).

2. Now the cabinet is ready to use. Use 
the key (20) to lock the right door (9) 
of the cabinet, if required (fig S).

fig Q

MC-681224-18

11E

8

4

fig R

MC-681224-19
1 2

fig S

MC-681224-20

920

Work and storage centre - 068-1224.book  Page 14  Thursday, September 5, 2013  8:46 AM



W
AR

RA
NT

Y
15

WORK & STORAGE CENTRE  068-1224-2

Mastercraft Maximum® limited warranty

This warranty is subject to the following conditions and limitations:

a. A bill of sale verifying the purchase and purchase date must be provided.

b. This warranty will not apply to any product or part thereof that is worn or broken or that has 
become inoperative due to abuse, misuse, accidental damage, neglect, or lack of proper 
installation, operation, or maintenance (as outlined in the applicable instruction manual or 
operating instructions), or that is being used for industrial, professional, commercial, or rental 
purposes.

c. This warranty will not apply to normal wear and tear or to expendable parts or accessories 
that may be supplied with the product that are expected to become inoperative or unusable 
after a reasonable period of use.

d. This warranty will not apply where damage is caused by repairs made or attempted by others 
(i.e., persons not authorized by the manufacturer).

e. This warranty will not apply to any product that was sold to the original purchaser as a 
reconditioned or refurbished product (unless otherwise specified in writing).

f. This warranty will not apply to any product or part thereof if any part from another 
manufacturer is installed therein or any repairs or alterations have been made or attempted by 
unauthorized persons.

g. This warranty will not apply to normal deterioration of the exterior finish, such as, but not 
limited to, scratches, dents, paint chips, or to any corrosion or discolouring by heat, or 
abrasive and chemical cleaners.

h. This warranty will not apply to component parts sold by and identified as the product of 
another company, which shall be covered under the product manufacturer’s warranty, if any.

This Mastercraft Maximum® product carries a five-year 
limited warranty against defects in workmanship and 
materials.

Subject to the conditions and limitations described below, 
this product, if returned to us with proof of purchase within 
the stated warranty period and if covered under this 
warranty, will be repaired or replaced (with the same model, 
or one of equal value or specification), at our option. We will 
bear the cost of any repair or replacement and any costs of 
labour relating thereto.

Work and storage centre - 068-1224.book  Page 15  Thursday, September 5, 2013  8:46 AM



W
AR

RA
NT

Y

16

WORK & STORAGE CENTRE  068-1224-2

Additional limitations
This warranty applies only to the original purchaser and may not be transferred. Neither the retailer 
nor the manufacturer shall be liable for any other expense, loss, or damage, including, without 
limitation, any indirect, incidental, consequential, or exemplary damages arising in connection with 
the sale, use or inability to use this product.

Notice to consumer
This warranty gives you specific legal rights, and you may have other rights, which may vary from 
province to province. The provisions contained in this warranty are not intended to limit, modify, take 
away from, disclaim, or exclude any statutory warranties set forth in any applicable provincial or 
federal legislation.

Work and storage centre - 068-1224.book  Page 16  Thursday, September 5, 2013  8:46 AM



GUIDE D'UTILISATION

068-1224-2

MD

ARMOIRE DE GARAGE EN ACIER 
AVEC TABLE DE TRAVAIL



Si des pièces manquent
ou sont endommagées,
ou si vous avez une
questions, veuillez appeler
1 800 689-9928.

Lisez et comprenez bien ce guide d'utilisation avant 
d'utiliser le produit. Il contient des informations 
importantes pour votre sécurité ainsi que conseils 
d'utilisation et d'entretien.

Conservez ce guide pour une utilisation future. Si 
ce produit est transmis à un tiers, alors ce mode 
d'emploi doit être inclus.

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2



TA
BL

E 
DE

S 
M

AT
IÈ

RE
S

2

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

FICHE TECHNIQUE 3

CONSIGNES DE SÉCURITÉ 4

VUE ÉCLATÉE 5

CONTENU DE L'EMBALLAGE 6–8

INSTRUCTIONS DE MONTAGE 9–14

GARANTIE 15–16

Work and storage centre - 068-1224_FR.book  Page 2  Thursday, September 5, 2013  8:52 AM



FI
CH

E 
TE

CH
NI

QU
E

3

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Remarque : Charge maximale supportée par l'armoire : 750 lb (340,9 kg).

Composante Charge maximale

Planche de bois 430 lb (195,4 kg)

Panneau de fond 90 lb (40 kg)

Tablette 70 lb (31,8 kg)

Tirroir 40 lb (18,1 kg)

Work and storage centre - 068-1224_FR.book  Page 3  Thursday, September 5, 2013  8:52 AM



CO
NS

IG
NE

S 
DE

 S
ÉC

UR
IT

É

4

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Consignes de sécurité
Ce manuel contient des renseignements qui ont trait à la protection de la sécurité personnelle et à la 
PRÉVENTION DES PANNES. Il est très important de lire attentivement ce manuel et de bien le 
comprendre avant d'utiliser le produit. Les symboles ci-dessous sont utilisés pour indiquer ces 
informations.

Remarque – Le mot « Remarque » est utilisé 
pour informer l'utilisateur de détails à 
connaître sur le produit.

RECOMMANDATIONS DE SÉCURITÉ

Ces précautions sont destinées à la sécurité personnelle de l'utilisateur et autres personnes 
travaillant avec l'utilisateur. Le non-respect de ces instructions peut entraîner une perte permanente 
de la vision, des blessures graves, voire mortelles, et des dégâts matériels et endommager le 
produit. Veuillez prendre le temps de les lire et de bien les comprendre.

ATTENTION!
Danger potentiel qui peut entraîner des 
blessures ou des dégâts matériels.

ATTENTION!
Danger potentiel qui peut entraîner des blessures ou des dégâts 
matériels.

• L'armoire doit être placée sur une surface plane.

• Cette armoire est destinée à une utilisation en intérieur.

• Resserrez tous les écrous et boulons périodiquement, si nécessaire.

• Utilisez un chiffon doux légèrement humide pour nettoyer l'armoire.

• Ne dépassez pas la limite de poids spécifiée.

• Tout montage ou entretien de l'armoire ne doivent être effectués que par des 
adultes.

• N'assemblez pas l'armoire ni ne la dépacez sans la main-d'œuvre 
nécessaire.

Work and storage centre - 068-1224_FR.book  Page 4  Thursday, September 5, 2013  8:52 AM



5
VU

E 
ÉC

LA
TÉ

E

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

MC-681224-01

Petit tiroir  Grand tiroir

4

8

16

3

13

1

12

5

12

9

7
6

2
17

20

15

14

11A10A

11D

10E

11B10B

16

11C

10C

10E
10D

Work and storage centre - 068-1224_FR.book  Page 5  Thursday, September 5, 2013  8:52 AM



CO
NT

EN
U 

DE
 L

'E
M

BA
LL

AG
E

6

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Nom N° de pièce Quantité Illustration

Plateau de bois 1 1

Cadre avant 2 1

Panneau arrière 3 1

Panneau gauche 4 1

Panneau droit 5 1

Tablette 6 1

Panneau inférieur 7 1

Panneau central 8 1

Porte droite 9 1

Work and storage centre - 068-1224_FR.book  Page 6  Thursday, September 5, 2013  8:52 AM



CO
NT

EN
U 

DE
 L

'E
M

BA
LL

AG
E

7

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Façade de petit tiroir 10A 2

Panneau gauche de 
petit tiroir

10B 2

Panneau droit de petit 
tiroir

10C 2

Panneau arrière de petit 
tiroir

10D 2

Panneau de fond de 
tiroir

10E 4

Façade de grand tiroir 11A 2

Panneau de gauche de 
grand tiroir

11B 2

Panneau de droite de 
grand tiroir

11C 2

Panneau arrière de 
grand tiroir

11D 2

Tapis de tiroir 11E 4

Work and storage centre - 068-1224_FR.book  Page 7  Thursday, September 5, 2013  8:52 AM



CO
NT

EN
U 

DE
 L

'E
M

BA
LL

AG
E

8

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Roue à blocage 12 2

Roue libre 13 2

Boulon M8 x 18 14 4

Rondelle plate M8 15 4

Vis M4 x 8 16 26

Vis M4 x 8 17 93

Tournevis 18 1

Clé plate 19 1

Clef 20 2

Work and storage centre - 068-1224_FR.book  Page 8  Thursday, September 5, 2013  8:52 AM



IN
ST

RU
CT

IO
NS

 D
E 

M
ON

TA
GE

9

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Préparation du montage
• Montez l'armoire sur une surface propre et plane.

• Retirez tous les éléments de la boîte d'emballage et assurez-vous que toutes les pièces 
énumérées précédemment sont disponibles.

• En installant les pièces qui ont plus d'une vis, serrez toutes les vis à la main avant de les 
serrer avec le tournevis fourni.

Remarque : Une douille de 13 mm (non fournie) peut être nécessaire pour assembler l'armoire.

Pour assembler le châssis de l'armoire

1. Ouvrez la boîte en carton (1) contenant 
le plateau de bois (2). Retirez toutes les 
pièces emballées sur le dessus du 
plateau de bois (fig A).

Remarque : Le châssis de l'armoire doit être 
monté à l'envers.

2. Fixez le panneau arrière (3) sur le côté 
large à l'arrière du plateau de bois (1) en 
fixant un boulon (14) et une rondelle 
plate M8 (15) sur chaque extrémité à 
l'avant du panneau. Serrez la vis avec la 
clé fournie (19) (fig B).

3. Installez le panneau de droite (5) sur le 
côté droit du panneau arrière (3) en 
plaçant le haut contre le plateau de bois 
(1). Fixer le panneau de droite au 
panneau arrière à l'aide de trois vis M4 
x 8 (16). Serrez les vis avec le tournevis 
(18) (fig C).

fig A

MC-681224-02

1

MC-681224-03
1 3

fig B

14
15

19

fig C

MC-681224-04

3

55

51

18

16

Work and storage centre - 068-1224_FR.book  Page 9  Thursday, September 5, 2013  8:52 AM



IN
ST

RU
CT

IO
NS

 D
E 

M
ON

TA
GE

10

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

4. Repérez la position du panneau central 
(8) sur le plateau de bois (1) et fixez-le 
au panneau arrière (3) à l'aide de trois 
vis M4 x 8 (16) (fig D).

Remarque : Les onglets devraient être dirigés 
vers l'extérieur de l'entretoise sur le panneau 
arrière.

5. Repérez la position du panneau de 
gauche (4) sur le plateau de bois (1) et 
fixez-le au panneau arrière (3) à l'aide 
de trois vis M4 x 8 (16) (fig E).

6. Fixez le cadre avant (2) aux panneaux de 
gauche et de droite (4 et 5) à l'aide de trois 
vis M4 x 8 (16) de chaque côté du cadre 
(fig F).

Remarque : Ne serrez pas les vis 
complètement à ce point.

7. Fixez le cadre avant (2) au plateau de 
bois (1) en utilisant deux boulons (14) et 
deux rondelles plates de M8 (15). Serrez 
les boulons avec la clé fournie (19). 
Ensuite, fixez le cadre au panneau 
central (8) avec trois vis M4 x 8 (16) 
(fig G).

Remarque : Serrez toutes les vis utilisées pour 
fixer complètement le cadre avant.

fig D

MC-681224-05

8

3
1

16

fig E

MC-681224-06

4

3

1

16

fig F

MC-681224-07

2

16

5
4

fig G

MC-681224-08

8

1

2

16

14

1915

Work and storage centre - 068-1224_FR.book  Page 10  Thursday, September 5, 2013  8:52 AM



IN
ST

RU
CT

IO
NS

 D
E 

M
ON

TA
GE

11

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

8. Fixez le panneau inférieur (7) entre le 
panneau arrière (3) et le cadre avant (2) 
à l'aide de huit vis M4 x 8 (16) (fig H).

9. Montez les roues à blocage (12) et les 
roues libres (13) aux quatre coins de 
l'armoire sur le panneau arrière et le 
cadre avant. Les roues à blocage doivent 
être installées toutes les deux du côté 
du panneau droit (5). Ensuite, retournez 
l'armoire sur ses roues, en position 
normale (fig I).

Remarque : Puisque l'armoire est très lourde, 
demandez toujours l'aide de deux personnes 
pour la retourner.

Pour assembler la tablette et la porte droite de l'armoire

1. Insérez l'étagère (6) dans le châssis de 
l'armoire à la hauteur désirée et poussez 
vers le bas sur les crochets pour la 
verrouiller (fig J).

fig H

MC-681224-09

3

7

2

16

fig I

MC-681224-10

1312

5

fig J

MC-681224-11

6

Work and storage centre - 068-1224_FR.book  Page 11  Thursday, September 5, 2013  8:52 AM



IN
ST

RU
CT

IO
NS

 D
E 

M
ON

TA
GE

12

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

2. Fixez la porte de droite (9) sur le côté 
droit du châssis de l'armoire à l'aide 
de cinq vis M4 x 8 (17) (fig K).

Pour assembler les petits tiroirs

1. Fixez les panneaux de gauche (10B) et 
de droite (10C) à la façade du petit 
tiroir (10A) à l'aide de deux vis M4 x 8 
(17) de chaque côté de la façade 
(fig L).

2. Fixez le panneau de fond du tiroir (10E) 
aux panneaux gauche (10B) et droit 
(10C) et à la façade (10A) du petit tiroir 
à l'aide de trois vis M4 x 8 (17) de 
chaque côté du panneau de fond 
(fig M).

fig K

MC-681224-12

9

17

fig L

MC-681224-13

10C 10B

10A

17

fig M

MC-681224-14

10B10E10C

10A

17

Work and storage centre - 068-1224_FR.book  Page 12  Thursday, September 5, 2013  8:52 AM



IN
ST

RU
CT

IO
NS

 D
E 

M
ON

TA
GE

13

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

3. Fixez le panneau arrière (10D) aux 
panneaux gauche (10B), droit (10C) et 
de fond (10E) du petit tiroir à l'aide de 
sept vis M4 x 8 (17) sur trois côtés du 
panneau de fond. À ce moment, un 
petit tiroir complet a été monté (fig N).

Remarque : Répétez les étapes 1 à 3 ci-
dessus pour l'assemblage de l'autre petit 
tiroir.

Pour assembler les grands tiroirs

1. Répétez les étapes 1 à 3 d'assemblage 
des petits tiroirs en utilisant les 
panneaux des grands tiroirs : façade 
(11A), panneau gauche (11B), panneau 
droit (11C) et panneau arrière (11D). 
Les panneaux de fond (10E) sont les 
mêmes (fig O).

Pour fixer les petits et grands tiroirs dans le châssis de l'armoire

1. Déployez le coulisseau (2) de la 
glissière à roulement à billes (1) vers 
l'avant du châssis de l'armoire (fig P).

fig N

MC-681224-15

17

10D

10B
10E

10C

fig O

MC-681224-16

11B

11C

11A

11D
10E

fig P

MC-681224-17

2

1

Work and storage centre - 068-1224_FR.book  Page 13  Thursday, September 5, 2013  8:52 AM



IN
ST

RU
CT

IO
NS

 D
E 

M
ON

TA
GE

14

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

2. Pour installer les tiroirs, insérez les 
glissières fixées au tiroir dans la 
glissière fixée au panneau de gauche 
(6) et celle attachée au panneau 
central (8). Utilisez la même méthode 
pour installer les quatre tiroirs — deux 
petits en haut et deux grands en bas 
— puis placez les tapis de tiroir (11E) 
dans chacun d'eux (fig Q).

Pour retirer les tiroirs de l'armoire
1. Tirez vers le haut le clip en plastique 

noir (1) sur le côté droit du tiroir, puis 
poussez le clip en plastique noir (2) sur 
le côté gauche du tiroir. Maintenant, le 
tiroir peut être retiré de l'armoire 
(fig R).

2. Maintenant, l'armoire est prête à 
l'emploi. Utilisez la clef (20) pour 
verrouiller la porte de droite (9) de 
l'armoire, si necessaire (fig S).

fig Q

MC-681224-18

11E

8

4

fig R

MC-681224-19
1 2

fig S

MC-681224-20

920

Work and storage centre - 068-1224_FR.book  Page 14  Thursday, September 5, 2013  8:52 AM



GA
RA

NT
IE

15

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

Garantie limitée de Mastercraft MaximumMD

La présente garantie est assujettie aux conditions et restrictions qui suivent :

a. un contrat de vente attestant l’achat et la date d’achat doit être fourni;

b. la présente garantie ne s’applique à aucun produit ou pièce d’un produit qui est usé ou brisé, 
qui est devenu hors d’usage en raison d’un emploi abusif ou inapproprié, d’un dommage 
accidentel, d’une négligence ou d’une installation, d’une utilisation ou d’un entretien 
inapproprié (selon la description figurant dans le guide d’utilisation ou le mode d’emploi 
applicable) ou qui est utilisé à des fins industrielles, professionnelles, commerciales ou 
locatives;

c. la présente garantie ne s’applique pas à l’usure normale ou aux pièces ou accessoires non 
réutilisables qui sont fournis avec le produit et qui deviendront vraisemblablement inutilisables 
ou hors d’usage après une période d’utilisation raisonnable;

d. la présente garantie ne s’applique pas lorsque les dommages sont causés par des réparations 
ou des tentatives de réparation faites par des tiers (c’est?à?dire des personnes non autorisées 
par le fabricant);

e. la présente garantie ne s’applique à aucun produit qui a été vendu à l’acheteur original à titre 
de produit remis en état ou remis à neuf (à moins qu’il n’en soit prévu autrement par écrit);

f. la présente garantie ne s’applique à aucun produit ou pièce de produit lorsqu’une pièce d’un 
autre fabricant est installée dans celui-ci ou que des réparations ou modifications ou 
tentatives de réparation ou de modification ont été faites par des personnes non autorisées;

Le présent produit Mastercraft Maximum MD est garanti pour 
une période de cinq (5) ans à compter de la date de l’achat 
au détail original contre les vices de matériau(x) et de 
fabrication.

Sous réserve des conditions et restrictions énoncées ci-
dessous, le présent produit sera réparé ou remplacé (par un 
produit du même modèle ou par un produit ayant une valeur 
égale ou des caractéristiques identiques), à notre discrétion, 
pourvu qu’il nous soit retourné avec une preuve d’achat à 
l’intérieur de la période de garantie prescrite et qu’il soit 
couvert par la présente garantie. Nous assumerons le coût 
de tout remplacement ou réparation ainsi que les frais de 
main-d’œuvre s’y rapportant.

Work and storage centre - 068-1224_FR.book  Page 15  Thursday, September 5, 2013  8:52 AM



GA
RA

NT
IE

16

ARMOIRE DE GARAGE EN ACIER AVEC TABLE DE TRAVAIL  068-1224-2

g. la présente garantie ne s’applique pas à la détérioration normale du fini extérieur, notamment 
les éraflures, les bosses et les éclats de peinture, ou à la corrosion ou à la décoloration 
causée par la chaleur, les produits abrasifs et les produits de nettoyage chimiques;

h. la présente garantie ne s’applique pas aux pièces vendues par une autre entreprise et décrites 
comme telles, lesquelles pièces sont couvertes par la garantie du fabricant s’y rapportant, le 
cas échéant.

Restrictions supplémentaires
La présente garantie s’applique uniquement à l’acheteur original et ne peut être transférée. Ni le 
détaillant ni le fabricant n’est responsable des autres frais, pertes ou dommages, y compris les 
dommages indirects, accessoires ou exemplaires liés à la vente ou à l’utilisation du présent produit 
ou à l’impossibilité de l’utiliser.

Avis au consommateur
La présente garantie vous accorde des droits précis et il se peut que vous ayez d’autres droits, 
lesquels peuvent varier d’une province à l’autre. Les dispositions énoncées dans la présente garantie 
ne visent pas à modifier, à restreindre, à éliminer, à rejeter ou à exclure les garanties énoncées dans 
les lois fédérales ou provinciales applicables.

Work and storage centre - 068-1224_FR.book  Page 16  Thursday, September 5, 2013  8:52 AM


	Work and storage centre - 068-1224_EN_09-05-13
	Work and storage centre - 068-1224_FR_09-05-13

